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In a square matrix the number of rows and columns is PPV e LD It a |
{x3 (@ -3x2 (©)  Same £ (B 2x3 (A
In matrices (A +B) = ? et L B A U (A+B) | @
AB' (D) A'+B' (O B' (B) A' (A)
The sum of the angles of a triangle is ctnef §oplet | B) |
360° (D) 270° (O 180° (B)  90°(A |
| The number of altitudes in a triangle is ALl et L | (4) i
4 (D) 30 2 B 1
Area of a circle with radius ‘r’ is ctnihe 17 Uk | (5)
_ \ mr (D) nr (O 2nr (B) nr® (A
Co-ordinates of the origin are | sl sehs Lise | (6)
i O.D@D ©,0© 0,0 @ 0 W
2’~3ab(a-b)—-b’=? a’-3aba-b)-b'=7|(D
@a-b? @ 2-v (© G@+b? ®  2+b A
| (a—bXa’+ab+b) =2 (a—bXa’+ab+b)=2|(®
| 2+ @) &-b © G@+b’ B (a-b W
Factorization of x’-y’ is cSFIX -y | D
Oyt D) G- -xy+y) © &- PHxy+y) B)  G-yXd+ty) (A
| Factorization of a*=1 is cFdat -1 |10
iXatD) @ @+1X@-D © @-1DE@+D B  (a-XerXa+D B
' The number of methods to find the H.C.F are .f_:u.»"’Jué)[_i_/’r:'-";yuk an
3 D 220 1 B 4 W
Solution set of |x-1|=4 is cerS¥ |x-1=4 |2
(5.3} @ (5,3} © {5,-3) ® {5,-3) w!| |
For each number ‘x’ the absolute value is ,T__v..,;_,(ﬁw,(;gk}”’”‘j ‘X’ ks | (13)
g ' oM |[x]| © -x (B) x (A
' Solution set of X’ —5x+6=0 is cerS¥ X -5x+6=0| (14
| (2,3} M {-2,-3} © {(£9 ® 3} W
The number of techniques to solve quadratic equation is BESLES I S eGans | (15)
' 4 (D) 3 O 2 B 1@
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210 = 25 Sra)?
60 = /J{ 1‘@-.,—"/
(st} A
Q.No.2  Write Six short answers to the following 2x6 =12 r_’f LF =z ALy g e Ji il 24U
Define improper rational expression d"( i Pl Freangd )]
It Poo= 4x'+3x2_5x+1 | thenfind PCD)  &Fpd PCD) PG =4x'+3x° - 5x+1 /1|2
Solve (x+2y) +(x — 2y)’ x+ 29+ (292 &EU |3
State remainder theorem ;—‘f( v A0 | 4
Factorize Xx°+ 5x — 14 | x* +5x — 14 2__{6/; 9
Factorize X'y’ +2° ' xy? +2° 2_,{ JF | 6
Define least common multiple (LCM) -i—:-"f-»a’/TJ 1bstss | 7
Find HCF by factorization 8xy’2’ , 12xy7  8xy’2’ , 12x%y'Z’ Ll A LA | 8
| 49x% + 112xy + 64y EF b sec 3 P LSF | 9
Find the square root by factorization 49x” + 112xy + 64y’
Q.No.3  Write Six short answers to the following 2x6 = 12 é‘-@}'.z.u,?/z"'ﬁ.:..mrgc.ddibn 3 Ady
Solve Vx+1 =3 Viti=3 &J |1
Solve 3(2x — ) =5(x - 1) 30x-D=5x-1) &S |2
Solve and check |x —3{=4 x-3[=4 Eg{dt'z_»l’d_{d’ 3
Solve by using factorization x°—4x+12=0 Kodx+12=0 LESSF |4
Write down the quadratic formula 40' SeisaGasss | 5
Solve by using factorization 3x°—10x+8=0 Ix2 - 10x+8=0 éé{d" 2 5L57 |6
Define square matrix : Z‘r B SIEE T
Find the matrix product [—-3L _42] [_21] [_3 ] [ ] érr}"_-/’gyb -8
Find determinant [:% _24] [_" ] c??ﬁ’d“’ 9
Q.No.4  Write Six short answers to the following 2x6 = 12 é{/_jpl,!:?ﬁ;[.:.wrpgc_ufdjbu 4 # iy
Define straight angle _ 4-(_93 PEE s |1
Define sector of the circle : é{ YNy |2
Define right triangle | 2y et i | 3
Draw a circle with centre “ O ° and radius 2.5 cm w2 25 Ubs CO° LK et L] 4
Define transverse common tangent cﬁ{ Al Py £ 15
LRI EFS T REF10 Algamdig SIS AEMLSH | 6
Find the volume of a block of wood whose length , breadth and height are respectively 10 cm,
5cmand 3 cm
Define cube ;:{;’/_{,/-E'JJ )
Define Origin - “y S | 8
Find the distance between the points (7,-2); (-2,3)  (7,-2); (-2,3) ’d‘_ﬂ'#’yﬁuymﬁw} 9
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NOTE : Attempt any THREE questions from this part 8 x 3 =24 éfffdlwaéf_-..w.pw

oy

Emi}}”.:..fufxz + x% X+ i Jvx=V5+2 S (A)-S
'If x=+/5+2 ; then find the value of x +§ and x%+ xiz
-2 +5x-6 , x—1 el bl FEG I S e S | (B
Determine whether the second polynomial is a factor of the first polynomial
without dividing 3x* ~2x* +5x -6 ; x -1
E Find square root of 4x*+ 12x° + 25x° + 24x + 16 ax*+ 1253 +25xF + 24x + 16 %ﬁf}“"’d}bw (A) -6
Solve v5x+9 =x-1 V5x+9 = x-1 ’;J" (B)
|
| Solve by using factorization )3( + ;i—s = % i + ﬁ = % %ﬁljc.d} (A)-7
Construct a rectangle with sides 10 ¢cm and 6 cm U6 10 WS Pe b (B)
x+ 3 1 =[ 2 1] figﬁ”'y;;lx (A) -8
| -3 3y—4|" -3 2 sk 1
, o [x+3 1 1. 12 1 '
Find x and y if -3 3y- 4] = [_3 2]_
2x+y=1, 5x+3y=2 P meztl | B
Use Cramer’s Rule to solve the simultaneous equations  2x +y =1, Sx+3y=2
Find the area of an equilateral triangle whose side is 8 m 'd._f/(?-”.}%.q._,;»:‘ 8 d“"b’ug.:-ﬂ.t‘?aciuﬂld;l/ (A) -9
AL BRI ST CC6,T) #BQ2, T, A6, 1) S| (B)

! Show that the points A(6, 1), B(2,7) and C(-6, 7) arc vertices of scalene triangle

i
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o 20 = =5 o et LA
15= AJS N
Safainss Jb L__,iz.;n;:.utu,fuéizr)z.v Ly MQ(@};.-;&Z?,.; D.sA,B,C 1z L s hlk
%”nﬁw__.lzufjuz.-.mbfé_&/ i S fusm et Py P
1/
[@+bF- -0 =7 @+bP— @-b? =7
: .4ab (D) 4ab (©O r@+bd) (B a+b (A
2-3aba-b)-b’ =7 ad-3aba-b-b"=7|Q
@-b ® a-b © (@a+b’ B a+b (A
Factorization of (x+3) —4 is A x+37-4103)
x-Dx-5 @ G&+Dx-5 © x-1x+5 B G+ DEFS A
| 1f PeO=x' -2 +5x+1 , then P(D) = f P FxPOO =X -2+ 5x+1 S | D
| om -7 © 5 B -5 @
The number of methods to find the H.C.F are 4_,.,;@;-_!)2:“;./(##.» (5)
2 (D 3 © 4 ® 1 W

?-JM(—-/:&?-:"JJI_‘-'JVL,((KLEM (6)

Any value of the variable which makes the equation a true statement is called the
Constant J*~ (D) Solution J (© In-equality =vi-7 (B) Equation =it W

| Solution setof |x|=3 is _ cerS¥ |x|=3 D
|e (y @ {3} © (3} ® {£3} w

l! The number of techniques to solve a quadratic eguation is pEpLE S SetsoGos | (B)

f 2 (D) 4 O 3 B 1A
]‘Solution setof x*—5x+6=0 cor S -5x+6=0 )
| {-2,-3} O {2}y © {2,3y B {31 (W

; PNy gTE -__-_-,_--_Luiu:.._JGof.-iﬁJ uACsuse | (10)
i The number of rows and columns in a matrix determine its

| determinent &~ (D)  column ¢ (© rows B B) order =, (A

, !
In matrices (A+B) = ? conill B A ok (A+BY an |
| AR @ B(© . A+B® AW ﬁ

Circles with equal radii or equal diameters are called AL e Il B b (12) ‘

Concyclic points sw<si7 (C) Semi circles < /isis (B) Concentric circles el (A
equal circles oS (D)

|

1 The altitudes of a triangle are pLntialet | (13)
~ panllel g @ non-concurrent 73 #(C) Collinear 7 (B) Concurrent £ 115 L(A)

% Volume of a right circular cylinder is cond g Sd$ 8 | (14
tr2 @  wh © =t @) @

| In the plane with every ordered pair is associated ctnlia e inl 7 ALY (18)

| unique point 45, £1 (D) four points 54(C)  threepoints ¢ (B) twopoints 3555 (A)

|
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Q.No.2  Write Six short answers to the following 2x6 =12 _.2’-( Y Tud Letwrgetdibn 2 Ay

| x=0,x=1 .éé.-‘_;{rs"" PGO in x*+3x°-5x+9 =P il
If x* + 3%% — 5x + 9 = P( then find P(x) when x=0,x=1
Simplify (6+vZ X5-V5) 6+VZX5-V5) & |2
Define rational numbers &y fSrme | 3
I_I-Tac'cctrizt: 2a” —bc—2ab +ac 2a* —bc-2ab+ac &bl sLE | 4
Factorize 8%’ -y’ 8x> -y Z_{d £ |5
Define linear polynomials S~ Ay N1 G2 L|6
Find H.C.F by factorization 8xy’Z’ , 12x’y'Z’ sxy’? , 12092 EppePid nlof | T
Find L.C.M by factorization 3a’b’c’ , 5a’b’c’ 3a'p?c® , Sab’c® LE e Sioemdf s | 8
Define H.C.F Z:/_éﬂgf("i,b LJ
Q.No.4 Write Six short answers to the following 26=12 L f=vif Loty gatdibs 3 Ay
Solve 3(x-2) <2x+1 3x—2) <2x+1 ZEUS |1
Define linear equation _ 2_{ - A, =ud” |2
Solve i’:?' =12 | i?; -2 &EU|3
Write down the names of methods to solve quadratic equation 2! el JLL SIS i | 4
Solve 2x*=3x 2i=3x LS5
Solve  2x = = +3 | 2x =2+3 ZFS |6
Define Null matrix éf_{..é.‘}’&.g’ii‘d}‘ 7
if A= [ > 2] thenfind detA. | o det A In A= |0 2|8
vy
\} . 2’4_%# A +B JxB-—-_[_: i] s A= [i g] ks
if A= [, :] end B=[ 7 7] thenfind A+B |
Q.No.4  Write Six short answers to the following 2x6 =12 L F e P Loy gediditn 4 Ay
Define Reflex angle : 2___5‘-" A s | 1
Define Rectangle 2 S |2
Define concyclic points ) g_:." Al |3
Define tangent to the circle g_:f - /" Sukesn | 4
Draw a circle of radius 2 cm with center O 2tg O Spitbsme§2 |5
Define Pythagoras theorem Se et | 6
Define cuboid - ey s |7
Write distance formula 4( LK | 8
Find the distance between two points (2, 1) , ¢-4,3) 2,1, (4,3 & debenl i | 9
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NOTE : Attempt any THREE questions from this part 8x3 = 24 .:3{ SIrLdfetou )
| |
2+b2+cP=81 , a+tb+c=11 £ edf ab+betca (A-5
| Find value of ab+bc+ca when a’+b*+c’=81, a+b+c=11
|
; Factorize m®—n° m® —n° 'd_’-fd;e’ (B)
|
\'_...__..._ P e
i
| O -2x+3, B+dx-4 Pl (A6
 Find H.CF by division method X -2x-2x+3, x*+3x-4
" 1 1.1 3 1 11 3
!Solve =x+ -x=c X+ 37 TXF ox=s b o d_i’ld' (B)
|
| . : 2 2 .
| Solve using quadratic formula 3x"+x-2=0 x*+x-2=0 d_-‘rJ;_uJJ&m: (A) -7
" s LS -d.,j sl 2 F 53 O Mk blpngieLi | (B)
' Draw an equilateral triangle each of whose sides is 5.3 cm. Draw its medians. Are they equal ?
. i
|
o ot “« ” | s 2 -3 - 2 3 -
IX-24=B £&e “X* I B=[; | » A= A @w 8!
i a=[ 23] 8= ] 3] thenfind “X" when 3X~2A=B |
Solve , using Matrix inversion method 3x -y =10 3x-y=10 d_-'-( S B pl g B |
- 2x+3y=3 2x +3y=3
w2552 SSesk LASIEZ o U A6 1 2 578 184 540G LT | (A9 |
The area of a parallelogram is 144 cm”. Find the altitude if the base is 2 cm long
sEBE C7,3) wBG,2), ACL, D WS | B
Show that the points A(-1,1) , B@G3,2), C(7, 3) are collinear
| -
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